Math in English Brain Teasers level 3 #24

What is the correct option in this pattern ?
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Which number i1s missing Which number is missing in
here? this brain teaser?
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M:thin English Brain Teasers level 3 #24

Answer to brain teasers

puzzlel: B
Each horizontal pair of circles is made up of 10 shaded squares

altogether.

puzzle2: 3
63 minus 6 equals 57.

puzzle 3 : 3
The average of 1, 5, 7 and 3 is 4, and the average of 7, 6 , 4 and 3

1s 5.

puzzle4: 9
The cells in the first 3 diamonds add up to the value of the 4th in

the same position.
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